- ) N - o . I - — = i — N - - N o E -
ROOF SHEATHING FASTENING TABLE (RAFTER / TRUSS SG = 0.49) | GENERAL NOTES:
Sheathing Nail spacing | Nail spacing NAIL 0SB TO OR NAIL OSB TO LOWER TOP PLATE & CONNECTOR TABLE ———— |
Wind  [Thickness |Required ,,ong':,’,mf along Intermediate UPPER TOP PLATE STRAP TRUSS TO LOWER TOP PLATE . - Uplift SP|Uplift SPF|Truss Connector To Plate To Truss/Rafter TRUSSES: TRUSSES SHALL BE DESIGNED BY A FLORIDA LICENSED ENGINEER IN |
Speed [Plywood  |Nail por s supports in the (IF POSSIBLE) - M~ s 505 SDWC15600 - - | ACCORDANCE WITH THE FBCR. TRUSS ENGINEERING SHALL INCLUDE TRUSS ’
Or 0SB panel fisld . e . . ' DESIGN, PLACEMENT PLANS, TEMPORARY AND PERMANENT BRACING DETAILS,
120 mph . ASTM F1667 RSRS-01 |4 12° h . = — - 415 290 H3 4-8dx1 1/ 4-8dx1 1/2 | TRUSS-TO-TRUSS CONNECTIONS, AND UPLIFT AND REACTION LOADS FOR
Exp.B8 |/'® (2 3/8" x 0.113") " o ~ T i O 615 |540 H2.5A 5-8dx1 172" 5-8dx1 1/2" |ALL BEARING LOCATIONS, TRUSS ENGINEERING IS THE RESPONSIBILITY OF THE
- — 1 PLY GIRDER TRUSS HOLD DOWN TABLE i L ) ;
Smoh A ASTM F1667 RSRS-01 __|6" oc 6" oc / ‘ o e 1340 11015 SHOA TR S TR TRUSS MANUFACTURER AND SHALL BE SIGNED & SEALED BY THE MANUFACTURER'S |
g 2 3/8" x 0.113" Uplift Top Connection _ |Bottom Connection - - DESIGN ENGINEER. IT IS THE BUILDER'S RESPONSIBILITY VERIFY THE TRUSS DESIGNER |
ROOF SHEATHING SEE Exp.C ( e -~ - LTS16 | upto8501b |(2) SDWC15600 |(3) SDWC15450 B 720 620 LTS12-20 6-10d1 1/2 6-10d1 1/2 FULLY SATISFIED ALL THE ABOVE REQUIREMENTS AND TO SELECT UPLIFT CONNECTIONS
ROOF SHEATHING FASTENING TABLE 120 mph  [19/32" ASTM F1667 RSRS-03 16" oc 6" oc Hzsa— H 12-10d X1 12" ! wi anchor bolt within 6" 1000  |860 MTS12-30 7-10d1 1/2" 7-10d1 1/2" BASED ON TRUSS ENGINEERING UPLIFT AND PROVIDE FOOTINGS FOR INTERIOR BEARING
Exp. D (2 1/2" x 0.131") OR i [ oa 1450 1245 HTS20-30 12-10d1 1/2° 12-10d1 112" WALLS. BUILDER IS TO FURNISH TRUSS ENGINEERING TO WIND LOAD ENGINEER FOR
PRE-ENGINEERED WOOD ROOF TRUSSES or ASTM F1667 RSRS-04 SDWC15600 (6) NAILS IN upto 11251 |HTS16 LSTAD, 14-) REVIEW OF TRUSS REACTIONS ON THE BUILDING STRUCTURE. STRAP 2X6 RAFTERS
AT 24" O.C. SELECT TRUSS CONNECTORS {3 x 0.120") UP TO 606 & LOWER TOP kgt PR Uplift SP | Uplift SPF |Strap Ties To One Member | To Other Member WITH MIN. UPLIFT CONNECTION 415LB EACH END; 2X8 RAFTERS 700 LB EACH END.
FROM THE ANCHOR TABLE 130 mph | 7/16" ASTM F1667 RSRS-01  |6" oc 6" oc el PLATE w - [1285  |1235 LSTAZ1 810d 3-10d _
PER TRUSS UPLIFT LOADS Exp. B (2 3/8" x 0.113") _ UP TO 620 # up to 2250 b |(2) HTS16 HTT4 | [e40 1455 MSTAZ4 5104 510d SITE PREPARATION: SITE ANALYSIS AND PREPARATION IS NOT PART OF THIS PLAN
(EITHER STRAPS OR SCREWS MAY BE USED) 130 mph |15/32" ASTM F1667 RSRS-01 6" oc 6" oc b SHEATHING NAILING: UPLIFT - o c : )
. . ~ 1/2* MIN. HORIZ. EDGE 1030|1030 €S20 7-10d 7-10d FOUNDATION: CONFIRM THAT THE FOUNDATION DESIGN & SITE CONDITIONS MEET .
Exp.C (239" x 0.113)) " MULTI PLY GIRDER TRUSS HOLD DOWN TABLE : = GRAVITY LOAD REQUIREMENTS (ASSUME 1500 PSF BEARING CAPACITY UNLESS I
3 . DIST. & 3/8" MIN. VERT. | |uplift SP|Uplift SPF|Stud Plate Ties To Stud To Plate
130 mph | 19/32" ASTM F1667 RSRS-03  [6" oc 6" oc - ; VISUAL OBSERVATION OR SOILS TEST PROVES OTHERWISE) |
(2) 2x4/6 SPF #2 DOUBLE TOP PLATE B B @ 112" x 0.131") EDGE DIST. | Uplift Top Connection Bottom Connection P 2 — T .
~ or ASTM F1667 RSRS-04 TH8’ 0SB FULLY BLOCKED i upto11251b  |HTS16 LSTA24, 14-10d 1065|605 SP2 6-10d 6-10d | CONCRETE: MINIMUM COMPRESSIVE STRENGTH OF CONCRETE AT 28 DAYS, F'c = 2500 PSI. |
TRUSS TO TOP PLATE (3" x 0.120") 2X4 SPF #2 N FROM TOP PLATE TO BOTTOM PLATE T Wrap under plate ' T
(4) 131"X3 1/4" TOE NAILS 140 moh_17/16" ASTM F1667 RSRS-01 6" oc 6" oc BLOCKING ﬁ 8d @ 3" OC EDGE 12" OC FIELD w/ anchor bolt within 6 771 7 - LSTA24 10-10d wrap under or over plate WELDED WIRE REINFORCED SLAB: 6" x 6" W1.4 x W1 4, FB = 85KSI, WELDED WIRE
i (2 3/8" x 0.113") & SHEATHING upto1700ib  |(4) SDWC15600  |HTT4 1235 [1235 LSTA24 14-10d wrap under or over plate REINFORCEMENT FABRIC (W.W.M.) CONFORMING TO ASTM A185; LOCATED IN MIDDLE .
B ; : - / SPLICE MAY BE OMITTED IF FULL (2) Each Ply Uplift SP|Uplift SPF | Holdowns @ Stemwall |To Stud/ Post | Anchor OF THE SLAB; SUPPORTED WITH APPROVED MATERIALS OR SUPPORTS AT SPACINGS
140 mph |19/32" ASTM F1667 RSRS-03  |6" oc 6" oc HEIGHT SHEATHING COVERS , S | L drnc by
Exp. C (21/2' % 0.131") 1" MAX — UPPER TOP PLATE & BOTTOM Upto22501b  1(2) HTS16 L0 S 1826  |1800  |DTT2Z 8-SDS 1/4"x1 1/2" |1/2'x12" Titen HD ‘
or ASTM F1667 RSRS-04 GAP @ " BLATE 1" MIN. upto33751b  |(3) HTS16 HTT4 | [a235 (3840 HTT4 18-16dx2 1/2° 1/2"x12" Titen HD FIBER CONCRETE SLAB: CONCRETE SLABS ON GROUND CONTAINING SYNTHETIC FIBER
e ) HORIE, o " [Uplift SP|Uplift SPF |Holdowns @ Mono | To Stud / Post | Anchor REINFORCEMENT. FIBER LENGTH 1/2 INCH TO 2 INCHES. DOSAGE AMOUNTS FROM 0.75
140 mph  [19/32" ASTM F1667 RSRS-03  |6" oc 6" oc e - _ : - o TO 1.5 POUNDS PER CUBIC YARD PER THE MANUFACTURER'S RECOMMENDATIONS.
24" MAX Exp. D (2 1/2" % 0.131") A 1825 1800 DTT2Z 8-SDS 1/4"x1 1/2" | 1/2"x6" Titen HD FIBERS TO COMPLY WITH ASTM C 1116. SUPPLIER TO PROVIDE ASTM C 1116 |
NOTE: ¢ QFMETM F 08T REIRS 08 716" 0SB —- S OBE- ] \ 4235 (3640  |HTT4 18-16dx2 12 |1/2'x12" Titen HD CERTIFICATION OF COMPLIANCE WHEN REQUESTED BY BUILDING OFFICIAL. .
SEALALL PENETRATIONS L RIUD EACK UNIZER OIRBER THUGH | |Uplift SPIUplift SPF|Post Bases @ Stemwall|To Post Anchor CONTROL JOINTS: WHERE SPECIFIED, SAWN CONTROL JOINTS IN SLAB-ON-GRADE SHALL
IN TOP PLATE AND FIRE 150 mph  [19/32" ASTM F1667 RSRS-03 6" oc ¢w e T (e onT 1900 ABU44Z 12-16d 5/8°12" Drill & Epoxy BE CUT IN ACCORDANCE WITH ACI 302. JOINTS SHALL BE CUT WITHIN 12 HOURS OF SLAB
STOP BLOCKING WITH CODE Exp. C (2 1/2" x 0.131") PER 2000 LB OF LOAD NAIL EACH PLY
r ASTM F1667 RSRS-04 . w/ .131"X3.25" NAILS @ 6" OC STAGGERED | |2475 ABUB6Z 12-16d 5/8"12" Drill & Epoxy PLACEMENT. THE LENGTH / WIDTH RATIOS OF SLAB AREAS SHALL NOT EXCEED 1.5 AND
APPIROVED SEMNMNT ‘(’3.’“,?0 120%) by e i TYPICAL SPACING OF CUTS TO BE 12FT. DO NOT CUT WWM OR REINFORCING STEEL.
' i - NI TS Sy Uplift SP|Uplift SPF |Post Bases @ Mono | To Post chor (RECOMMENDED LOCATION OF GONTROL JOINTS IS SUBJECT TO OWNER AND
NOTE: IF TRUSS BEARING LOAD 150 mph  [19/32" ASTM F1667 RSRS-03  [4" oc 4" oc , NOTE: USE MIN. OF 1 MORE JACK STUD 1900 ABU44Z 12-16d 5/8"x7" Drill & Epoxy CONTRACTOR'S APPROVAL. THE CONTROL JOINTS ARE NOT INTENDED TO PREVENT
EXCEEDS 425 PSI USE SYP #2 Exp.D (21/2" x 0.131") : THAN NUMBER OF PLYS OF GIRDER TRUSS/ 2475 ABUG6Z 12-16d 5/8°x7" Drill & Epoxy CRACKS BUT RATHER TO ENCOURAGE THE SLAB TO CRACK ON A GIVEN LINE.)
TOP PLATES; IF IT EXEDS 565 PSI or ASTM F1667 RSRS-04 CAANA_A AN |
ADD ADDITIONAL BEARING BLOCKS OR (3" x 0.1207) REBAR: ASTM A 615, GRADE 40, DEFORMED BARS, FY = 40 KSI. ALL LAP SPLICES 40 * DB
USE SIMPSON TBE BEARING ENHANCER . ; i 4 fout fiom the oan adge of the roof, including 4 feet S_I-EATH IN (.-::' FQR L-J.EU FT (TYP.) GIRDER TRUSS HOLD DOWN DETAl L (25" FOR #5 BARS); UNO. ALL REINFORCEMENT SHALL BE DETAILED AND PLACED IN
Note: For sheathing located a minimum of 4 feet from the perimeter edge of the ' g — — TERIO LL STUD TABLE FOR SPF STUDS: ACCORDANCE WITH AC! 315.96. UN.O
on each side of ridges and hips, nail sp;:tt:'ng is pertr;ﬂitk;::l to be Isf:::jhar:o(:: {_ﬁ‘r_ﬂetta%llong pa_r:ﬁe} etl:il.lgeas A | | ACH MENT DETM WOOD FRAME w/ STRAPS & ANCHORS EX R WA #2 : -96, U.N.O. |
and 6 inches on center along intermediate supports in the pane 2 : This table specifies |
ct : : : : : . SHEATHING,
2x4/6 SPF#2 STUDS code minimum thickness of roof sheathing. The thickness of the sheathing mey nztad to be |;1|::reeaad ONE STORY WOOD FRAME THIS STUD HEIGHT TABLE IS PER 2012 WFCM, TABLE 3.20B5, Sﬁg{(ﬁﬁgrﬂ;ﬁ% ;&?’EsNg?guiggt%grg% EI)LA[;’%R&%MASMIS;:E ATH 1323 —
f sEESTUDTABLE based in the type of roofing matsrial being used. See manufacturer Florids product approval. S e E PP e —— — = = . |EXTERIOR LOAD BEARING & NON LOAD BEARING STUD LENGTHS| |MEMBERS, WITH PANEL EDGES STAGGERED. ' .
FOR WALLS WITH OSB EXTERIOR AND 1/2" GYP INTERIOR |
/ FOR OVERHANGES 12'-24" USE A DROPED GABLE TRUSS WITH \\ ENGINEERED TRUSSES RESISTING INTERIOR ZONE WINDLOADS, 130 MPH, EXPOSURE C, | | RTZICRIRAL COMNECTORS: MANUFACTURERS AND PRODUCT NUMBER FOR CONNECTORS, |
2X4 OUTLOOKER @ 24" O.C. w/ H2.5a TO GABLE TRUSS AND ANCHORS, AND REINFORCEMENT ARE LISTED FOR EXAMPLE NOT ENDORSEMENT. |
(4) 131" 3.25" NAILS TO 2nd TRUSS (BLOCK BETWEEN OUTLOOKER) NN TER TIRUED URLIEY STUD DEFLECTION LIMIT H/240 (NOT OK FOR BRITTLE FINISH). AN EQUIVALENT DEVICE OF THE SAME OR OTHER MANUFACTURER CAN BE SUBSTITUTED |
: STUD SPACINGS SHALL BE MULTIPLIED BY 0.8 FOR FRAMING FOR ANY DEVICES LISTED IN THE EXAMPLE TABLES AS LONG AS IT MEETS THE REQUIRED |
" 0.5.8. G AD CAPACITIES. CTURER'S INSTALLATION INSTRUCTION E FOLLOWED
R LYaiooken N 2X4 LOOKOUT BLOCK @ 24" OC - g PORCH HEADER :.E(Lc;;gaélﬂTHIN :LI;EF;‘ %FCCO%IN;ER%F;EIEE;;J ZONE LOADING. | |12AD CAPACITIES MANURA SNSTALLATION ONSMUET R |
8d COMMON NAILS - SEE STRUCTURAL PLAN | EXAM L. XUae= . i |
3" OC EDGE, 12" OC FIELD 131"X3 1/4" — | ' 4 " 1" STUD HEI ANCHOR BOLTS: A-307 ANCHOR BOLTS WITH MINIMUM EMBEDMENT AS SPECIFIED IN -
SEE SHEATHING FOR ROOF SHEATHING ﬁiag . f ! (1) 24 § 167 OC Lo : il DRAWINGS BUT NO LESS THAN 7" IN CONCRETE OR REINFORCED BOND BEAM OR |
UPLIFT ATTACHMENT DETAILS r_ | N (1) 2x4 @ 12" OC TO 11-2" STUD HEIGHT 15" IN GROUTED CMU. |
i L. Fi W | (2) LSTA24 w/ (8) 10d TO HEADER & (8) 10d TO POST (1) 2x6 @ 16" OC TO 15-7" STUD HEIGHT
| L 's
12 // ' \NOTCH HEADER INTO POST (1) 2x6 @ 12" OC TO 17-3" STUD HEIGHT BUILDER'S RESPONSIBILITY:
MAX & (1 3/4" MIN. REMAINING POST THICKNESS) THE BUILDER AND OWNER ARE RESPONSIBLE FOR THE FOLLOWING, WHICH ARE '
RCED (4) .131"X3 1/4" (4) #10 DECK SCREWS AT STABLE | SPECIFICALLY NOT PART OF THE WIND LOAD ENGINEER'S SCOPE OF WORK.
L AR A 4 e BEn IR NS e i e R R Nk TOP EDGE AND BOTTOM EDGE OF BEAW GRADE & SPECIES TABLE CONFIRM SITE CONDITIONS, FOUNDATION BEARING CAPACITY, GRADE AND
PLACED ON CHAIRS AT 1 1/2* DEPTH OR BOTTOM CHORD AND RAT RUN @ 6' O.C. |~ W/ 2" MIN THREAD PEN ON INTO HEADER Fb | E BACKFILL HEIGHT, WIND SPEED AND DEBRIS ZONE, AND FLOOD ZONE.
FIBER MESH CONCRETE, 6-ML POLY VAPOR IAG. BRAGE NAILED sl o 6X6 SP #2 POST OR PROVIDE MATERIALS AND CONSTRUCTION TECHNIQUES, WHICH COMPLY
oLy TAPE OVER TERMITE-TREATED. | EDGE & 120.C. FIELD | Eggﬁ #gﬁs“ée gg S // 4X4 SP#2 POST (SEE NO NOTCH NOTE BELOW) 2x8 SP #2 925 |14 | |WITH FBCR REQUIREMENTS FOR THE STATED WIND VELOCITY AND
POLY TAPE OVER TERMITE-TREATED EDGE & 12* 0.C. FIELD - | |DESIGN PRESSURES.
: SP #2 1.4
AND COMPACTED FILL ATTACH RAT RUNTO O e e NMLES - ABU POST BASE w/ (12) 164 & 5/8° ANCHOR 2x10 800 PROVIDE A CONTINUOUS LOAD PATH FROM TRUSSES TO FOUNDATION. IF YOU
BLOCKING w/ MAX SPAN 7' OR 12' IF (2" MIN. EDGE DIST) 2x12 SP #2 750 1.4 BELIEVE THE PLAN OMITS A CONTINUOUS LOAD PATH CONNECTION, CALL
(4) .131"X3 1/4" NAILS (4).1317X3 1/4" s "T* BRACED | | GLB 24F-V3 SP 2600/1.9 THE WIND LOAD ENGINEER IMMEDIATELY.
T | NAlLs 3 4 13150 14 PORCH POST CONNECTIONS | . VERIFY THE TRUSS MANUFACTURER'S SEALED ENGINEERING INCLUDES TRUSS
HEXASANCHAR RGLT TOE NAIL TRUSS Sl A /| : : : | LSL [TIMBERSTRAND|1700(1.7 DESIGN, PLACEMENT PLANS, TEMPORARY AND PERMANENT BRACING DETALLS,
3"X 3" X 1/4" WASHER TO TOP PLATE ' ¥ \ Uplift|Post Top Connection |Bottom Connection| | LVL| MICROLAM |2950(2.0 TRUSS-TO-TRUSS CONNECTIONS, AND UPLIFT AND REACTION LOADS FOR ALL |
@ 32° OC & 8" FROM CORNERS 124 @ 6" O.C. : —1 2475|6x6 SP#2 PT|(2) LSTA24  |ABUG6Z ' % BEARING LOCATIONS. .
SIMPSON LSTA24 ——=t ; |
: L— 2X4X8' RAT RUN NAIL EACH
:2%{&?-@;&5_3 ° CONNECTION w/ (4) .131"X3 1/4" NAILS POSTS CUT FLUSH WITHOUT NOTCH - BRACE TO PREVENT ROTATION: | ?‘SHgASSEE%L &’}' ;E'Eg_ﬁg@ﬁgg;gorn%lgNCE h\;\(fsfi %Ei%%ws " !
OR ;. TRUSS ENGINEERING SUBMITTED TO THE WIND LOAD ENGINEER. T IS i
4) 131°X3 1/4" NAILS EAVE / HIP ROOF: , . .
23‘,,53?5";00 : a) 131"X3 1/4" NAILS - STRAP TRUSS w/ H2.5A OR EQUAL TO EACH SIDE OF HEADER (FRONT & BACK) THE RESPONSIBILITY OF THE BUILDER TO CHECK ALL DETAILS OF THE .
@ 48" 0.C. UN.O. (). USE LONGER STRAP AS NEEDED IF TOP PLATES ARE INSTALLED COMPLETE ROOF SYSTEM DESIGN SUBMITTED BY THE TRUSS |
ON E STO RY WALL S ECTION a 2X4 SPF#2 BLOCKING (FIRST BAY ONLY) , -(2) LSTA24 16-10d OR (2) MTS20 14-10d ON FRONT AND REAR OF POST TO HEADER MANEFACTURER AND HAVE IT SIGNED, AND SEALED BY A DESIGN
PRy Sati 3 INSTALLED HORIZONTALLY - ATTACH HEADER TO POST w/ (8) .131" x 3.25" TOE-NAIL PROFESSIONAL FOR CORRECT APPLICATION OF FBCR REQUIRED ;
SCALE: 3/4" = 1'-0" H | GABLE END: LOADS AND ANY SPECIAL LOADS. THE BUILDER IS RESPONSIBLE TO
Cine ' - EXTEND GABLE SHEATHING TO BOTTOM OF HEADER NAILED WITH 8d NAILS @ 6" MIN. REVIEW EACH INDIVIDUAL TRUSS MEMBER AND THE TRUSS ROOF
SPACE RAT RUN & DIAGONAL BRACE 6'-0" 0.C. INTO TRUSS BOTTOM CHORD AND INTO BEAM AT 1 1/2" FROM TOP & BOTTOM EDGE SYSTEM AS A WHOLE AND TO PROVIDE RESTRAINT FOR ANY LATERAL
FOR GABLE HEIGHT UP TO 25'-0" 130 MPH, EXP. C, ENCLOSED - ATTACH HEADER TO POST w/ (8) .131" x 3.25" TOE-NAIL BohciiG THE SURDER S XL Ut OARE CHECKING TS ROOF -
| - | |RESPONSIBLE FOR THE TRUSS LAYOUT WHICH WAS CREATED BY THE
| TYP.) GABLE BRACING DETAIL (TYP.) PORCH POST TRUSS MANUFACTURER AND THE TRUSS DESIGNER ALSO DENIES '
| .(_)— =. ONE STORY WOOD RESPONSIBILITY FOR THE LAYOUT PER NOTES ON THEIR SEALED i
| WOOD FRAME - o I wat g . et SO | [TRUSS SHEETS, _ _ _ _'
N . - e —— : — . ) .
w [ OPTION: 1 (BUCKET) : OPTION: 2 (POCKETED)
71 SEE "STRUCTURAL PLLAN NOTES" . it
FOR (U.N.O) STRAPINGi OR SCREWS .
- — OTHER STRAPING OR SCREWS LESS OR MORE - — o
S IS NOTED ON STRUCTURAL PLANS o = (2) 2X_ SPF #2 TOP PLATE IF TRUSS TO BEAM 5 =
HEADER SCREWS TABLE | STRAPS ARE NAILED } O
Option |Uplift | Top Connection Bottom Connection : TO BEAM LSTA24 | ¥ <
| 5 : ) ARE NOT REQUIRED . &
a A}t?g s|’¢|ng atudstg &c&;u%: géate : | D: (_I) c ; 8 -
" = =] BE “H Atftach king stud to top plate |w impson —— HUC410 | 2] LTS12 |
o %chg?-“ELPEﬁEEEDGES I3 - r r #1 1<510] 4 (1) Simpson SDWC156001/2" x 10" Anchor bolt w/ 3" x 3" x 1/4" washer g L NP L 2 - = | wlZ 8 8 SESE
5 dR BACK NAILED THRU #2 < 895 | Attach king stud to top plate |Attach king stud to bottom plate ;(4) SIMPSON / | z ; o o 8 T N E T O
8d 3' OC @ PANEL EDGES o = KING STUD INTO HEADER wi (2) Simpson SDWC15600|w/ (3) Simpson SDWC15450 | SDWC15600 || € 40 w8 550
, = E | T T Y PR | 1/2" x 10" Anchor bolt wi 3" x 3" x 1/4" washer | BEAM | Zlo cn OS28E®
8d 12" OC NOT @ PANEL EDGES = g it must be located within 6" of king stud @ all door Iocations ! POCKETED ap) o © 2 E?'_ w % 5
3 2 — BENEATH R4 Z23
SHEATHING MUST BE NAILEID TO TOP PLATES : | = =225
S S| || wi8d 3" OC (NAILING MAY BE STAGGERED) HEADER STRAP TABLE : TOP PLATE B E < HNJO
0sB —‘ - 2X4 BLOCKING W g & SHEATHING NAILED TO HEADER Option |Uplift | Top Connection Bottom Connection = Qe
. - H| BETWEEN STUDS & = wl (2) ROWS OF 8d @ 6" OC LSTA24, 14-10d wrap under plate (DROPPED BEAM) = ~
N, \ N/ @ 1?;32(?31’_‘%%{-; 2z g #  |<1235|LSTA24, 14-10d wrap over plate | 1/2" x 10" Anchor bolt w/ 3" x 3 x 1/4" washer _ AR, BEAR — | 5
A A Eiaﬂ}sCH END (TYP) =3 E ALL HEADER JACK & KING STUDS SHALL e must be located within 6" of king stud @ all door locations | S (2) 2X_SPIF#2 JACKS “ ol R . S
: Z 82 | | | BE FASTENED TO EACH OTHIER w/ (2) ROWS [#4  |<1455|MSTA24, 18-10d header tojacks  |DTT2Z V' : ' | STRAPS ARE NAILED _ |
le—— 0SB % o 3’ 10d @ 8° OC STAGGERED [#5  |<1800|(2) MSTA24, 18-10d header to jacks |DTT2Z O kAN
3 = OR
INTERIOR SHEARWALL — w3z [#6  [<2910[(2) MSTA24, 18-10d header to jacks [HTT4 LSTA24, 14-10d s s
W " NAILS < 2X_FULL HEIGHT STUDS (TYP,) 222 i e e 2 kit R WRAP UNIDER PLATE \ TO TOP PLATES w/ 8d 3" OC |
fﬁ’f&?ﬂﬁ-ﬂ&t BLOCKING ‘f B S T 0o J : OR (NAILING MAY BE STAGGERED)
LOCATED @ 16" OC -— WINDOW SILL PLATE — ' A TR0 S0 PR & SHEATHING NAILED TO HEADER
= g || (PER TABLE BELOW) || TO BOTTOM PLATE wi (2) ROWS OF 8d @ 6" OC
; : N[A:L ENDS OF E/ACH PLY W/ w/ (6) SIMPSON SDWC15450 LSTA24 ARE NOT REQUIRED ,
| 2 i eauar (3) EACH STUD DIMENSIONS:
Ll | = . | il 1 r = A
O B haEs o | 2x6 = (6) 131" x 3.25" NAILS ! SILL PLATE SPANS FOR 10'-0" WALL HEIGHT | oyl o
2 o) ' ¥ | DESIGN |  MAX.SPANSFORSPF#2 ~ |easeDonwrem | / 2X_PT SP #2 PLATE —— \ Mark Disosway, P.E. o resolution.
1/2" GWB UNBLOCKED —————— L PR — | WINDSPEED | (1)2x4 | (2)2x4 | (1)2x6 | (2)2x6 | "OLEA328 / ST 10 AR Do not proceed without clarification.
oo T A | b S S O T~ e | R conmes D Properry s
=S 130MPHEXP.C| 5-2° | 78 | 7T 113" | SPAN SHALL BE | Mark Disosway, P.E. hereby expressly reserves
EXTERIOR WALL 5 | . | DIVIDED BY (H/10) | y | its common law copyrights and ;_:rcperty right_ in
|- | I these instruments of service. This document is
y | [ not to be reproduced, altered or copied in any
/ OR SCREWS DETAIL . form or manner without first the express written
. ['YPICAL HEADER STRAPING OR SCREWS DETAIL TYP) BEAM TO WALL DESIGN CRITERIA & LOADS: i e W s e v
(TYP.) INTERSECTING WALL FRAMING ONE STORY WOOD FRAME w/ STRAPS & ANCHORS (TYP.) BEAM TC | IR — BUILDING CODE 7TH EDITION ‘ |
AR s WOOD FRAME w/ STRAPS & ANCHORS FLORIDA BUILDING CODE RESIDENTIAL CERTIFICATION: | hereby certify that | have
WOOD FRAME snes Sty AR, . — il o } B o ) o o (2020) | | examined this plan, and that the applicable
e — == = i CODE FOR DESIGN LOADS ASCE 7-16 . gggs&ﬁhth;av?;- éﬁ?ﬁ%& vi;":d engineering
i —— | |
Igpu;;hhg SEEEENG‘FH / gﬁgwﬁ L@o LOTF(‘) ';_L:IETQ STUD B WINDLOADS | | Building Code Residential (2020)
e 1/2" GWB UNBLOCKED wi (16) .131"X3" NAILS /,r" .131"X3 1/4" NAILS SPH_@ - \ : ?:Ss&c WIND SPEEgT) 130 MPH to the best of my knowledge.
. . 1 5d COOLER NAILS & ) _ (2) FOR 2X4 CHANGE IN PLATE HEIG E 7-16, 35 G e
AT VA NARSAZ 00 7* OC EDGE 10" OC FIELD / (3) FOR 2X6 INSTALLED HORIZONTALLY \ D G LIMFTATION s design s vakd fo.one
/ {;g e \ (BUILDER MUST FIELD VERIFY) B S lodatioh:
" : : (2) 2X_ SPF #2 TOP PLATE
= A\ 1.4 NAILED TOGETHER w/ 0P CERAPHIC PACTOR ' MARK DISOSWAY PE. 53915
. ' 131"X3" NAILS @ 8" OC (BUILDER MUST FIELD VERIFY)
2X_ FULL HEIGHT STUDS (TYP) f’i (<] 5(\ \ AL e RISK CATEGORY 2
r! \ | =1 ENCLOSURE CLASSIFICATION  |ENCLOSED \“““" é "y
. _; ' | i i INTERNAL PRESSURE 0.18 o\ DI
il / i o) COEFFICIENT s\\\ - 0 )
8d 12" OC NOT @ PANEL EDGES i T e ROOF ANGLE 7-45 DEGREES ) S ‘g‘* \C 2
_____ (HSPR — MEAN ROOF HEIGHT 30 FT S8 2%
----- STUD PACK C&C DESIGN PRESSURES SEE TABLE P .
OUTSIDE CORNER | NAL EAES ey e FLOOR LOADING =04 ¥ 2
- NAIL EACH PLY - = P =
w/ 131°X3.25" NAILS ROOMS OTHER THAN 40 PSF LIVE LOAD || = s
@ 6" OC STAGGERED SLEEPING ROOM || 2 ..-éu s
5d COOLER NAILS ROOF LOADING %8 'é\\e:s‘e
7" OC EDGE 10" OC FIELD FLAT OR < 4:12 20 PSF LIVE LOAD “ NM‘“\ 022
4:12T0 < 12:12 16 PSF LIVE LOAD LLILL)
y | ; 12:12 & GREATER 12 PSF LIVE LOAD _
\/ / SOIL BEARING CAPACITY |1500 PSF ' Mark Disosway P.E.
2X_ FULL HEIGHT STUDS (TYP.) A T N\ e e e = : | .
A VN ; : v ; FLOOD ZONE THIS BUILDING IS NOT IN THE FLOOD ZONE | 163 SW hi!ldtown Place
7~ /S : i | | Suite 103
— voc— A 038 e NALING @ 5L LATE TOSTIAL | Lake City, Florida 32025
131°X3 1/4" NAILS 12" OC 8d 3' OC @ PANEL EDGES , END NAIL OR TOE NAIL ! |
N 81/19° OC NOT @ PANEL EDGES 7 131°X3 1/4" NALLS | | COMPONENT & CLADING DESIGN PRESSURES 130 MPH (EXP C)| | 386.754.5419
N 8{ Egg gﬁg i : . EFFECTIVE ZONE 4 ZONE 5 | disoswaydesign@gmail.com
e / (5) FOR 2X8 & : , WIND AREA (FT2)  |INTERIOR END 4' FROM ALL
/ (6) FOR 2X10 X | | | OUTSIDE CORNER B
/ ok ' 0-20 +25.6(Vasd)  -27.8(Vasd) +25.6(Vasd)  -34.2(Vasd)
v (] | | | L]
INSIDE CORNER :  — - 0-20 +42.6(Vult)  -46.2(Vult) +426(Vult)  -57(Vult) JOB NUMBER:
P iR | GARAGE DOOR DESIGN PRESSURES 130 MPH (EXP C) 220936
(TYP.) CORNE R FRﬁM |N(i (TYP.) WALL CONNECTIONS WITHIN 6" EACH SIDE | 9x7 GARAGE DOOR +22.6(Vasd)  -25.5(Vasd) S 1
s OF PLATE JOINT 16x7 GARAGE DOOR +21.7(Vasd)  -24.1(Vasd .
WOOD FRAME ONE STORY WOOD FRAME - e e '
B s S : o e PR IO T A e T e I NN, e == — . ' T : OF 2 SHEETS




